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COST ACCOUNTING
Paper-II (BC-302)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
but not more than two questions from each unit. All
questions carry equal marks.
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UNIT-I (3&TE-1)
1. What is Cost accounting? Explain the process of installation
of a costing system. Describe the practical difficulties of
installing a costing system.
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2.  Write short notes on following :
f1 W dfea feoofi fafew .
(i) A.B.C. Analysis of Material Control.
g fET @ ‘siEw.’ faven
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(i) Economic Order Quantity.
foqeeht emRer =

(iii) Perpetual Inventory Control.
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3. What is meant by 'Incentive Plan' in the remuneration
of labour? Mention any four such methods, giving their
merits and demerits.
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UNIT-II (3&TE-10)
4. What do you mean by the term under/over absorption
of production overheads? How does it arise? How is it treated
in cost accounting?

IUNTEl &% STURIuuy/SATUTINol | Y N GHAd 2
IE A Ul BT 27 N orened ¥ THeT e g fwen
ST B2

S. The following particulars relate to a slate manufacturing

company for Jan. 2020 :
Slate quarried 10,000 tons on which Royalty @ 2/- per
ton paid.

Wages I 40,000

Coal ¥ 10,000

Internal Transport ¥ 20,000

Works overhead — 20% of Direct charges
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Office overhead 10% of Works cost

Cost of Removal of overburden 1 Paisa per slate
manufactured

Opening Stock 10,000 slates

Manufactured Slates purchased 20,000 @ ¥ 1 per slate
Slate sold 1,00,000 @ ¥ 2/- per slate

Closing Stock 30,000 slates

Selling Expenses 10 Paisa per slate sold.

Prepare a Cost Sheet of Slate Company.
fr faoor ts Wi T H 9l HEAT % SEEd 2020 F
Tafia ©
10,000 27 w2 @Ml § faet 1 g W T 2 fd = =i
T § W ;M

TSRl T 40,000

HFe T 10,000

Aider FramEm T 20,000
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faffa wie 3 *T 20,000 @ T 1 94 e

wWie 9= 1,00,000 @ ¥ 2/- 9fd Wi

s1faq & 30,000 Wi

fasl =73 10 Paisa fa fafsa =2
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6. What is the function of a Cost reconciliation statement?
Discuss the causes of difference between costing profits and
financial profits.
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UNIT-III (3ehT2-III)

7. Mr. Aseem owns a fleet of taxis and the following record is
available from his books :

Number of taxis 10

Salary of Manager % 600 p.m.
Salary of Accountant I 500 p.m.
Salary of Cleaner < 200 p.m.
Salary of Mechanic. < 400 p.m.
Cost of each taxi. < 90,000

Rent of Garage % 600 p.m.
Annual tax % 600 per taxi.
Driver's Salary % 800 (per month per taxi)
Annual Repair. < 3000 per taxi
Insurance Premium 5% per year

Total life of a taxi is estimated 2,00,000 km taxi runs in all
3,000 km in a month of which 30% runs empty. Petrol
consumption is one litre for 10 km @ T 24 per litre. Oil and
other sundries are 30 per 100 km. Calculate the cost of

running taxi per km.
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8. The product of a company passes through three different
process known as A, B, and C before the product is complete.
From past experience it is ascertained that the normal loss
in each process is as under :

Process A — 2%, Process B — 5%, Process C — 10%.

In each case, the percentage of loss is calculated on the
number of units entering the processs concerned. The
wastage of each process possesses a scrap value. The wastage
of Process A and B is sold at I 35 per 100 units and that
of Process C at ¥ 20 per 100 units. The output of each
process passes immediately to the next process and finished
units from process C to finished stock account.

The following additional inoformation is obtained :

Process A Process B Process C

Material consumed 4000 2000 1000
Direct Labour 6000 4000 3000
Manufacturing expenses 1000 1000 1500

In Process A 20,000 units at the cost of ¥ 8,000 were
issued. The acutal output was Process A — 19,500,
Process B — 18,800, Process C — 16,000.

Prepare Process Account.

T HIA H Tk IR IR EF ¥ e o ufEaeti A, B
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TRaT A — 2%, 9RaT B — 5%, 9wa1 C - 10%.
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T AT 4000 2000 1000
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9. Define Standard Cost and discuss their advantages and
disadvantages. Distinguish between Budgetary Control and

Standard Costing.
YHY-ANTG 1 qREm ST SR 3% oy 9 BIEl i
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10. Write short note with example :
(i) Break Even Point.
(il) Margin of Safety.
(iii) P/V Ratio.
(iv) Contribution.
3 Hied Hiew feowvii fafey -
() wA-fa=sz fasg)
(i) grem wHm
(iii) IH-HEAT 3TITEI
(iv) STR_HI
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